— EEIK{L

Casel : FBSEHERR & LLAIT D IR AR (M364E LLRITAIIE )
Case2: SEHEAYEUVIRAR (H 10315 E)

- Case3: EEMR LRI EHER I 7 IBUR (S47450[3E)

E’é%ﬁ%‘rﬁ(198&$~1998$)|

AL (\ A ™ N\ N
/[/ \/WVQ\M \’\\M/”VV\/\«/ \\/m\[\//” X/W\[\,JW \[J‘“ \ )

A AN A

i T — — LT -+ e — e

) %A I r\ g
jg) ‘f ; \ A\\ / \ ,/'1 \\ ’ \\ rﬂ \,’ \ | n\ J\/ '\ J‘ \

- Nl v o ‘\j X / \ A 4/‘ \ \
E) } \ NN \ P | Wl M A N, 2\ | AAMUAY N
™ \\ / |J \‘ . '\\/ J v w\ J‘/ \\‘ // vy V™ \, N

ﬁ » J v \ {\ /; ~/
4 [ \/
m ¥

_3:0 /\ {\ AAA f}\\ /\ AN
W MJ WM Y b LS

S63.1.1 S64.1.1 H2.1.1 H3.11 H4.1.1 Ha.1.1 He.1.1 HT.11 HB.1.1 HI.L1 H10.1.1

AEHRIERIE(TII~HIIET) LEIEXS3MNSHIIETRLTLS




EEMTE KA (81 R T K AL

30 |

20 i

— EEK{

—S— Casel: 1§

;YG,-/?"*::\.(.;.\; i
Tove 1
a2V USPPUS SO —— Case2¥1j
A oo

5 BV -
ST e . T
-2 ! } ! f 1 e = =N

-

RPN PPN &
o SOOI g *o-9o0o0o00”

- 2
| 00000409~ 9-9-00@

EBMKAL(m)
|
o

E....Q........'..Q'...'.......'...':'.....................................C...C...C...C...C...C.......C.... —— cases;qzﬂ

_2.0 -I.I.I‘I..‘...I.......'.'.......'...'...'...'.'.'...'.'.'...'...'...'.l.......l.....l...l...l...l...l...l.’.

—=— EHUKLZ(BEND:
F15 (H5~H12)

N 2/1 3/1 4/1 5/1 6/1 /1 8/1 9/1 10/1 LAV 12/1

STEEARM X 81FE(T11~HIIZET)




EEMKEL(m)

40 T

EEMTE KA (81 R T K AL

I — EWEKH

I T Casel (RSB IEARE LART) BHEKEL: 1) (T7T~H10)
N " © -~ Casel (FEEBMEIERRE LIAT) ST S KEL: B (T7~H10)
i o Casel (BIBHEIERE LIAT) 5 8 KEL : RIE (T7~H10)
B — EHEKE(BE):F1 (M8~M36)

A | | | P U I R EFEKE(BEN) : RB (M8~M36)

— FEHKE (GBI : BIE (M8~M36)
L Il 1 1 1 1 il L . 1 1

1/1 2/1 3/1 4/1 5/1 6/1 7/1 8/1 9/1 10/1 1N 12/1




BB E KA (815 T8 KAL)

300.0
—8—— Casel:F#
—— Case2:¥1
——&—— Case3: ¥
AR T
__ 2000
»
B
)
E
|
s
&
=
il
MR
1000
0'0 1 | 1 1 | 1 L 1

1/1 2/1 3/1 4/1 5/1 6/1 "1 8/1 9/1 10/1 LAVA 12/1

STEEARM X 81FE(T11~HIIZET)




EEMT R KA (81F R T K AL

40 [
30 |

20 1

£
=
%
=
HE)
20 |
r — EEKEL
I O Casel (FASBYEIERE LIAT) ST HKEL: T (T7~H10)
=30 [ ' ‘ | ‘ ' "7 - Casel (FEBSEHERRE LART) B SK AL : & (T7~H10)
- Casel (ISR SEIEERIE LUAT) ST HKEL: B (T7~H10)
a0 | T KA (KB T (HA~H12)
=t 11 N 1t | | | evzess EFEKLL (BRI &% (HA~H12)
I — EFKEL(BE)I) : HKIE (H4~H12)
| | I 1 1 ! | | | ! I
-5.0

in 2/1 3/1 4/1 5/1 6/1 7/1 8/1 9/1 10/1 11/1 12/1




